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Econ132                         Chapter 27: Business cycles, Unemployment and Inflation                   محمد عامرية 

 
The Business Cycle 
Business cycles are alternating rises and declines in the level of economic activity, sometime over several 
years. Individual cycles (one “up” followed by one “down”) vary substantially in duration and intensity. 

 
 . على مدى عدة سنوات في وقت ما  هي تقلبات منتظمة بصورة دورية في مستوى النشاط الاقتصاديالحلقة الاقتصادية  

 
Phases of the Business Cycle مراحل الدورة الاقتصادية 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 Peak: at a peak, business activity has reached a temporary maximum. The economy is at full employment 

and the level of real output is at or very close to the economy's capacity. The price level is likely to rise 
during this phase. 

 

 Recession: is a period of decline in total output, income, and employment. This downturn, which last 6 

months or more. Along with declines in real GDP increase in unemployment rate. 
 

 Trough (depression  In the trough output and employment at their lowest levels. The trough phase :( كساااااد

may be either short-lived or quite long. 
 

 Expansion (Recovery): A recession is usually followed by a recovery and expansion, a period in which real 

GDP, income and employment rise. The economy again approaches full employment. If spending expands 
more rapidly than does production capacity, prices will rise (inflation). 

 
Although business cycles all pass through the same phases, they vary greatly in duration and intensity. Many 
economists prefer to talk of business “fluctuations” rather than cycles because cycles imply regularity while 
fluctuations do not. The Great Depression of the 1930s resulted in a 27 percent decline in real GDP over a 3-year 
period in the United States and seriously impaired business activity for a decade. 
 

يفضل العديد من الاقتصاديين . تمر عبر نفس المراحل ، إلا أنها تختلف اختلافاً كبيرًا في المدة والشدة( الدورة الاقتصادية)على الرغم من أن جميع دورات الأعمال 

أدى الكساد الكبير في الثلاثينيات من القرن الماضي . مال بدلاً من الدورات لأن الدورات تعني الانتظام في حين أن التقلبات لا تعني ذلكالأع" تقلبات"التحدث عن 

طير لمدة عقد من سنوات في الولايات المتحدة وإعاقة النشاط التجاري بشكل خ 3في المائة في الناتج المحلي الإجمالي الحقيقي على مدى  27إلى انخفاض بنسبة 

 . الزمن
 

Cyclical Impact: Durables and Nondurable.  
Firms and industries producing capital goods (for example, housing, commercial buildings, heavy equipment, and 
farm implements) and consumer durables (for example, automobiles, personal computers, and refrigerators) are 
affected most by the business cycle. Within limits, firms can postpone the purchase of capital goods. For instance, 
when the economy goes into recession, producers frequently delay the purchase of new equipment and the 
construction of new plants.  
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والسلع الاستهلاكية المعمرة ( الزراعيةعلى سبيل المثال ، المساكن والمباني التجارية والمعدات الثقيلة وأدوات )تتأثر الشركات والصناعات المنتجة للسلع الرأسمالية 

على سبيل . في حدود ، يمكن للشركات تأجيل شراء السلع الرأسمالية. الاقتصاديةبالدورة ( على سبيل المثال ، السيارات وأجهزة الكمبيوتر الشخصية والثلاجات)

 .المثال ، عندما يدخل الاقتصاد في حالة ركود ، يقوم المنتجون في كثير من الأحيان بتأخير شراء معدات جديدة وبناء مصانع جديدة
 

In contrast, service industries and industries that produce nondurable consumer goods are somewhat insulated 
from the most severe effects of recession. People find it difficult to cut back on needed medical and legal services, 
for example. And a recession actually helps some service firms, such as pawnbrokers and law firms that specialize 
in bankruptcies. Nor are the purchases of many nondurable goods such as food and clothing easy to postpone. 
The quantity and quality of purchases of nondurables will decline, but not so much as will purchases of capital 
goods and consumer durables.  
 

يجد الناس صعوبة في تقليص الخدمات الطبية . اقل تأثر في حالة الركودوالصناعات التي تنتج سلعاً استهلاكية غير معمرة  اتيةفي المقابل ، فإن الصناعات الخدم

ويساعد الركود في الواقع بعض شركات الخدمات ، مثل سماسرة الرهونات وشركات المحاماة المتخصصة في حالات . ل المثالوالقانونية المطلوبة ، على سبي

 الطعام والملابستنخفض كمية ونوعية مشتريات وفي هذه الحالة . كما أنه ليس من السهل تأجيل شراء العديد من السلع غير المعمرة مثل الطعام والملابس . الركود

 . ولكن ليس بقدر مشتريات السلع الرأسمالية والسلع الاستهلاكية المعمرة، 
 
Example: Choose the correct answer  
1. The phase of the business cycle in which real GDP declines is called: 

A. The peak. 
B. An expansion. 
C. A recession. 
D. The trough. 

 
2. The phase of the business cycle in which economy's capacity is at a minimum is called: 

A. the peak. 
B. a recession. 
C. the trough. 
D. the underside. 
 

3. The industries or sectors of the economy in which business cycle fluctuations tend to affect output most are: 
A. military goods and capital goods. 
B. services and nondurable consumer goods. 
C. clothing and education. 
D. capital goods and durable consumer goods. 

 
4. The period of growth in real GDP between the trough of the business cycle and the next peak is called the: 

A. recessionary phase. 
B.  recovery phase. 
C.  contractionary phase. 
D.  cyclical phase 

 
5. Which of the following will most likely occur during the recovery phase of a business cycle? 

A. Real GDP rises, and unemployment falls. 
B. Real GDP declines, and inflation rises. 
C. Interest rates rise, and the number of business failures rise. 
D. Inflation rises, and employment falls 

 
6. The phase of the business cycle in which real GDP declines for 6 months or more is called: 

A. The peak  
B. An expansion  
C. A recession  
D. The trough  

 
7. When aggregate economic activity is increasing, the economy is said to be in  

A. An expansion.   
B. A contraction. 
C. A peak. 
D. A turning point. 
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Unemployment  البطالة 
 
The labor force, Employment, and Unemployment القوى العاملة ، والتشغيل ، والبطالة  
 
Who’s in the labor force? 
 
The labor force consists of persons 16 years of age or older who are not in institutions and who are employed or 
unemployed but seeking for work (يبحث عن عمل). 
 

لذلك إذا . عنه هي التعطيل أو التوقف الجبري عن العمل لجزء من القوة العاملة في المجتمع بالرغم من القدرة على العمل ، و الرغبة في العمل، والبحث : البطالة

عن عمل و يرغب وجد شخص قادر على العمل و راغب فيه و لكنه لا يبحث عن العمل فلا يدخل ضمن إحصائيات البطالة ، كذلك إذا وجد شخص آخر يبحث 

 . فيه ولكنه غير قادر على العمل لأسباب صحية مثلا، ً فإنه لا يدخل ضمن إحصائيات البطالة في المجتمع 
 

 

𝐿𝑎𝑏𝑜𝑟 𝐹𝑜𝑟𝑐𝑒 (𝐿𝐹)  =  𝐸𝑚𝑝𝑙𝑜𝑦𝑒𝑑 (𝐸)  +  𝑈𝑛𝑒𝑚𝑝𝑙𝑜𝑦𝑒𝑑 (𝑈) 
 
 
We divide the total population into three groups.  
 

 People under 16 years of age and who are institutionalized, for example, mental hospital. 

 عامًا والذين تم إيداعهم في مؤسسات الرعاية ، على سبيل المثال ، مستشفى للأمراض العقلية. 16الأشخاص الذين تقل أعمارهم عن 

 
 Not in Labor Force: is composed of adults who are potential workers but are not employed and are not 

seeking work. For example, they are homemakers, full-time students, or retirees (المتقاعدون). 
 

 لى سبيل المثال ، ربات بيوت أو طلاب بدوام كامل أو متقاعدونخارج القوى العاملة : يتكون من البالغين القادرون على العمل ولا يبحثون عن عمل. ع
 

 The labor force: the labor force consists of people who are able and willing to work. Both those who are 

employed and those who are unemployed but actively seeking work. 
 

تشخخمل القوى العاملة  الاشخخخاص العاملون واللذين لا يعملون ولكن يبحثون . العمل في وراغبين قادرين أشخخخاص من العاملة القوى تتكون: العاملة القوة
 .عن عمل

 

 

Total Population = (
under 16 years of age and 
who are institutionalized

) + (Not in Labor Force) + ( Labor force) 

 
 
 

Unemployment Rate = 
Unemployed

Labor Force
 x 100% 

 

 
Part-time employment 

All part–time workers are fully employed, because part-time workers either wanted to work full-time or could not 

find full time work. 

 

By counting part-time workers as fully employed, the official unemployment statistics understate ( تقققققققق قققققققق قققققققق) the 

unemployment rate. 

 
 
Discouraged workers 
You must be actively seeking work in order to be counted as unemployed. An unemployed individual who is not 
actively seeking employment is classified as "not in the labor force". The problem is that many workers, after 
unsuccessfully seeking employment for a time, become discouraged and drop out of the labor force. 
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ي  عن يبحث الذي لا و عم  حتى يتم احتسقققابع طلاع  عن اللم . يتم تفقققفرد العاط اللاع  عن اللم   بالبحث عن  يجب أن تسقققى
 
عم  على أنه "ليس ف

ي البحث عن عم  لبلض الوقت ، أصبحوا محبطي   ويتسربوا من ال وى ال
 
. فاللمال لام ةال وة اللام ة". المشك ة هي أن اللديد من اللمال ، بلد أن فش وا ف

ي البحث ع ه، ل  ثم لم   المحبطي   
 
ة ع ي ة ف أي اللمال الذين يئسقققققققققوا من الحفقققققققققول على فاصقققققققققة عم ة وتوقعوا عن البحث عن اللم ، نياا بنثم قهقققققققققوا ف ى

ي ال وى اللام ة 
 
 .يجدوه، وهؤلاء لا يدخ ون ف

 
By not counting discouraged workers as unemployed, the official unemployment statistics (الإحفاءات الاسمرة) understate (   ت) 

the unemployment rate.  

 
Example: Choose the correct answer  
1. A person who is neither holding a job nor searching for a job ( لا يلم  ولا يبحث عن عم) is: 

A. Not counted as part of the labor force. 
B. Counted as unemployed  
C. Counted as employed  
D. Counted as discouraged workers  

 
2. Suppose there are 8 million part-time workers & 90 million full-time workers. 4 million of the part-time 

workers switch to full-time work. We can conclude that: 
A. The unemployment rate will decrease. 
B. The unemployment rate will increase. 
C. The unemployment rate will remain unchanged. 
D. The employment rate decrease  
 

3. Refer to the table. The unemployment rate is: 
A. 2.5 % 
B. 3.2 % 
C. 5% 
D. 6.9 % 

 
4. The labor force includes: 

A. Employed workers and persons who are officially unemployed. 
B. Employed workers, but excludes persons who are officially unemployed. 
C. Full-time workers, but excludes part-time workers. 
D. Permanent employees, but excludes temporary employees. 

 
5. Shrien works in her own home as a homemaker and full-time caretaker of her children (ي بأععالثا

 ,Officially .(تلتت 
she is: 
A. Unemployed. 
B. Employed. 
C. Not in the labor force. 
D. In the labor force. 

 
6. Official unemployment statistics: 

A. Understate unemployment because individuals receiving unemployment compensation are counted as 
employed. 

B. Understate unemployment because discouraged workers are not counted as unemployed. 
C. Include cyclical and structural unemployment, but not frictional unemployment. 
D. Overstate unemployment because workers who are involuntarily working part time are counted as being 

employed. 

 
7. In September there are 10,000 people classified as unemployed and the size of the labor force is 400,000. 

The only change between September and October is that 4,000 of the unemployed give up looking for work. 
Which of the following is true? 
A. In September the unemployment rate was 4% and in October the unemployment rate was 1%. 
B. In September the unemployment rate was 2.5% and in October the unemployment rate was 1.5%. 
C. In September the unemployment rate was 5% and in October the unemployment rate was 4%. 
D. In September the unemployment rate was 1.75% and in October the unemployment rate was 0.75%. 
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Participation rate:  ي القوى العاملة
 
  نسبة المشاركة ف

 
The participation rate defined as the ratio of the labor force to the manpower (16 years of age and older)  
 

Participation rate = 
Labor Force

Not in labor force + labor force
     x 100% 

. 
 
Population 16 years of age and older = Not in labor force + labor force 
 
Example: 
Answer the next questions in the space below: 

 
 
 
 
 
 
 
 
 

 
A. What is the size of the labor force in 2019? 

 
         Labor Force = Employed + Unemployed = 420,000 + 80,000 = 500,000 
 
 

B. Calculate the official unemployment rate in 2019. 
 
Unemployment rate = unemployed / labor force = 80,000 / 500,000 = 16% 
 
 

C. Calculate the size of people under 16 years of age and who are institutionalized in 2020. 
 

Total Population = people under 16 years of age + Not in the labor Force + Labor Force 
 
2,000,000 = people under 16 years of age + 480,000 + (72,000 + 450,000)  

          
         People under 16 years of age = 2,000,000 – 1,002,000 = 998,000 
 
 

D. Calculate the participation rate in 2020. 
 

Participation rate = {labor force / (labor force + nor in the labor force)} 
 
Participation rate = (450,000 + 72,000) / (522,000 + 480,000) = 522,000 / 1,002,000 = 52% 

 
 
Example 
Suppose the Palestinian population is 3,800,000 individuals, the number of individuals 16 years and above 
(manpower) is 2,000,000. Given that the labor force participation rate is 80% and unemployment rate is 16%. 
Calculate the following: 
 
A. The number of people in the labor force. 
 

Participation rate = labor force / (Not in labor force + labor force) 
 
80% = L.F / 2,000,000    labor force = 2,000,000 * 0.8 = 1,600,000 

 

Variables 2019 2020 

Total Population 1,800,000 2,000,000 

Not in the labor Force 450,000 480,000 

Part-time workers 40,000 45,000 

Unemployed 80,000 72,000 

Discourage workers 6,000 10,000 

Employed 420,000 450,000 
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B. The number of people who are unemployed. 
 

Unemployment rate = Unemployed / labor force 
 
16% = Unemployed / 1,600,000    Unemployed = 256,000 

 
 
C. The number of employed people.  
 

L.F = Employed + Unemployed  
 
1,600,000 = Employed + 256,000     Employed = 1,344,000 
 

 
D. How many individuals are outside the labor force (not in the labor force)? 
 

The number of individuals 16 years and above (manpower) = L.F + not in L.F 
 
2,000,000 = 1,600,000 + not in the labor force  
 
Not in the labor force = 2,000,000 – 1,600,000 = 400,000 
 

 
Example 
Refer to the information provided in table below to answer the questions that follow. 
 

 
What is the total number of people who are unemployed? 
 

Participation rate =
Labor Force

Not in labor force + labor force
     →     60% = 

Labor force

200
     →      Labor force = 120 million 

 

Unemployment Rate = 
Unemployed

Labor Force
      →     5% = 

Unemployed

120
        →  Unemployed = 6 million 

 
Example 
Refer to the information provided in table below to answer the questions that follow. 

 
 

1. What is the size of the labor force? 
 
Labor Force = Employed + Unemployed (Not working and looking for work) 
 
Labor Force = 40 + 2 = 42 millions 

 
2. What is the unemployment rate? 
 

     Unemployment Rate = 
Unemployed

Labor Force
 x 100% = 

2

42
 x 100% = 4.76% 
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Types of unemployment 
 

A. Frictional Unemployment البطالة الاحتكاكية  

 
Frictional unemployment referred to the type of unemployment that includes people who are voluntarily 
between jobs ( الوظائديت    عواعرة بي    ) and looking for a better job. 
 

ي و ال ي هذه البطالة ناتجة عن انت ال بلض أفااط ال وة اللام ة من عم  إلى عم  آخا بسبب تطورات ظاوف اللم  مث  حدوث التطور التك ولوج 
 
اغبة ف

ي الانت ال من م ط ة إلى أخاى أو 
 
ي بلض الف اعات .  وظرعة أفه  بلد الحفول على مؤه  ع مي أعلى أو الاغبة ف

 
  التوسع ف

 
Economists use the term frictional unemployment - consisting of search unemployment and wait 
unemployment- for workers who are either searching for jobs or waiting to take jobs in the near future. 

 
Many workers who are voluntarily between jobs are moving from low-paying, low productivity jobs to higher-
paying, higher- productivity positions. That means greater income for the workers, a better allocation for labor 
resources, and a larger real GDP for the economy. 
 

 

B. Structural Unemployment   البطالة الهيكلية 

 
Unemployment results because the composition of the labor force does not respond immediately or 

completely to the new structure of job opportunities. Workers who find that their skills and experience have 

become obsolete or unneeded thus find that they have no marketable talents. They are structurally 
unemployed until they adapt or develop skills that employers want. 
 

البطالة بن تاطيبة ال وى اللام ة لا تسققققققققققتجرب بشققققققققققك  فوري أو فام  ل ثرك  الجديد لعان اللم . اللمال الذين يجدون أن مثاراتثم  هذا ال  ع من  فتجي
ورية ، وبالتالىي يجدون أنه ليس لديثم مواهب قاب ة ل تس يق. إنثم عاع ون عن اللم  من ال احرة الث

اتثم قد أصبحت قديمة أو غ   ض   رك رة إلى أنوخ  
ي يريدها أصحاب اللم 

 .يتكرعوا أو يطوروا المثارات التى
 

ي أجزاء من ال وة اللام ة بسقققققققققققققبب تطورا
اللم  ا . فمثلا ً تحول سقققققققققققققو   ت تؤطي إلى اختلاف متط بات هرك تلاف البطالة الثرك رة على أنثا حالة تلط  ف 

ي 
ا ً جذريا د قد يحفققق  ف  ي تا  

ي ال طاع ابول لفقققال  الفققق اعة و المجتمع من زراعي إلى صققق اعي فذن  لع يلت 
هرك  الاقتفقققاط وسقققتوجب إنحسقققار اللام ي   ف 

ة من المتل م ي ع رقققه فققذنققه من الفققققققققققققققققلقققب على المزارع اللقققاطي أن يتحول إلى موظد إنتقققاا على آلققة حققديثقققة ، فمقققا أن المجتمع الققذي ي را أعققداط ط   
ي   ف 

 ت ففات غ   مط  بة إنما يعاقم من مشك ة البطالة الثرك رة. 
 

The distinction between frictional and structural unemployment is hazy at best. The key difference is that 
frictionally unemployed workers have marketable skills and either live in areas where jobs exist or are able to 
move to areas where they do. Structurally unemployed workers find it hard to obtain new jobs without 
retraining, gaining additional education, or relocating. Frictional unemployment is short-term; structural 
unemployment is more likely to be long-term and consequently more serious. 
 

لديثم مثارات قاب ة ل تسقققق يق ويما يليشققققون  )بطالة احتكاكرة( هو أن اللمال اللاع ي   عن اللم   بي   البطالة الاحتكاكرة والبطالة الثرك رة  ائيسققققي العا  ال
ي م اعق توجد فيثا وظائد أو قاطرون على الانت ال إلى م اعق يلم ون فيثا. يجد اللمال اللاع ون عن اللم  من ال احرة الثرك رة 

ي الحفقققققول ف 
صقققققل بة ف 

ي أو الانت ال
ة ابمد ن من الماج  أن تكون  لمكان أخا .  على وظائد جديدة طون إعاطة التدريب أو الحفقققققققققققققول على تل رم إققققققققققققققاف  البطالة الاحتكاكرة قفققققققققققققق  

 .البطالة الثرك رة ع ي ة ابج  وبالتالىي أك ر خطورة
 

 

C. Cyclical Unemployment البطالة الدورية  

 

Unemployment that is caused by a decline in total spending is called cyclical unemployment and typically 

begins in the recession phase of the business cycle. As the demand for goods and services decreases, 

employment falls and unemployment rises. Cyclical unemployment results from insufficient demand for goods 
and services. 
 

ط ق على البطالة ال اتجة عن ان عاض الإنعا  ي الكلىي  يد
ي ماح ة الاطوط ف 

 ف 
ً
. مع ان عاض الط ب على الس ع الح  ة الاقتفاطيةالبطالة الدورية وتبدأ عاطة

 . دورية عن عدم طعاية الط ب على الس ع وال دماتوال دمات ، ت  عض اللمالة وتاتعع البطالة. ت جم البطالة ال
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Example 
Indicate whether each of the following people is frictionally unemployed or structurally unemployed or cyclically 
unemployed or not officially unemployed or fully employed  
 

1. A poorly educated ( التل رمقلرد  ) former telephone operator, replaced by a 

machine, seeking for work. 

Structurally Unemployed 

2. A woman with good job skills who cannot find a job due to a sluggish 

economy (رقوط اقتفاطي).  
Cyclically Unemployed   

3. A welfare recipient with good job skills who is not seeking for work.    Not Officially Unemployed 

4. A man with obsolete job skills (قلرد المثارات) who has given up trying 

(  
ّ
 لى

َ
عن المحاولة ت  ) to find work. 

Not Officially Unemployed 

5. A man who are voluntarily ( 
 
 between jobs and looking for a better (عوعا

job 

Frictionally Unemployed 

6. A person who is part-time workers who is trying to find (حاولد الإيجاط -full ( يد

time job. 

Employed 

 
 
Example 
The above table shows answers given by people interviewed in the Current Population Survey. 
 

Person A This person has just graduated from high school and is working at a part-time job but 
wants a full-time job. 

Person B This person has been laid off from a job but expects to be called back as soon as the 
economy improves. 

Person C At the age of 45, this person was laid off from the automobile industry when new 
equipment was installed and the person did not have the skills necessary to use the 
equipment. This person now is searching to find a new job. 

Person D As a result of this person's spouse being transferred to a job in a new city, this person is 
looking for a new job. 

Person E This person was laid off last year when new equipment was installed at the plant, 
reducing the number of workers needed. Shortly after being laid off, this person looked 
for a new job, was unable to find one, and then stopped looking for work. 

 
1. Which people are structurally unemployed?   (Person C) 

 
2. Which people are cyclically unemployed?   (Person B) 

 
3. Which people are frictionally unemployed?    (Person D) 

 
4. Which person is a discouraged worker?   (Person E) 

 
 
Example: Choose the correct answer  
1. Susie has lost her job in a Vermont textile plant because of import competition. She intends to take a short 

course in electronics and move to Oregon where she anticipates that a new job will be available. We can 
say that Susie is faced with: 
A. Seasonal unemployment.  
B. Cyclical unemployment. 
C. Structural unemployment. 
D. Frictional unemployment. 

 
2. Cyclical unemployment results from: 

A. A deficiency of spending on goods and services. 
B. The decreasing relative importance of goods and the increasing relative importance of services in the 

U.S. economy. 
C. The everyday dynamics of a free labor market, with workers voluntarily changing jobs. 
D. Technological change. 
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3. If a worker quits her job because she wants to move to another state and begin looking for new work, this 

worker would be experiencing:  
A. Frictional unemployment  
B. Structural unemployment  
C. Cyclical unemployment  
D. Natural unemployment 
 

4. Which type of unemployment increases during a recession? 
A. Structural unemployment 
B. Cyclical unemployment                   
C. Frictional unemployment 
D. Seasonal unemployment 

 
 

Definition of Full employment  مفهوم التشغيل الكامل 
 
Because frictional and structural unemployment is largely unavoidable in a dynamic economy, full employment 

is something less than 100 percent employment of the labor force. Economists say that the economy is “fully 

employed” when it is experiencing only frictional and structural unemployment. That is, full employment occurs 

when there is no cyclical unemployment. 
 

ي اقتفاط طي امركي ، فذن  توجد نياًا بن البطالة الاحتكاكرة والثرك رة 
ي ان ملدل التشار  الكام   التشار حد ط    ف 

من ال وى اللام ة. ي ول  %100لا يلت 
 لكام  يحدث ع دما لا تكون ه اك بطالة طورية. التشارلاالاقتفاطيون أن الاقتفاط "يلم  بكام  عاقته" ع دما يواجه عمالة احتكاكرة وهرك رة ف ط. أي أن 

 
Economists describe the unemployment rate that is consistent with full employment as the full-employment rate of 

unemployment, or the natural rate of unemployment (NRU). At the NRU, the economy is said to be producing its 

potential output. This is the real GDP that occurs when the economy is “fully employed.” 

 

ي حالة  ملدل   . الكام  ل بطالة ، أو الملدل الط رىي ل بطالة  التشار بأنه ملدل  حالة التشار  الكام  يفد الاقتفاطيون ملدل البطالة الذي يتوافق مع 
ف 

ي الذي يحدث ع دما يكونالبطالة الط رىي تكون قرمة الانتاا ع د الطاقة الكام ة 
 الاقتفاط "يلم  بشك  فام ".  . هذا هو ال اتج المحلىي الإجمالىي الح رقى

 
Note that a fully employed economy does not mean zero unemployment. Even when the economy is fully employed, 

the NRU is some positive percentage because it takes time for frictionally unemployed job seekers to find open 
jobs they can fill. Also, it takes time for the structurally unemployed to achieve the skills and geographic relocation 
needed for reemployment. 
 

ي ان ملدل البطالة صعا  نلاحظ
ي حالة التشار  الكام  لا يلت 

هي نسبة مئ ية إيجابرة  الط رىي ملدل البطالة  . حتى ع دما يلم  الاقتفاط بالكام  ، فذنانه ف 
ا 
ً
ا ، وستاا  اللاع ون عن اللم  هرك رًا وقت

ً
ا ل باحثي   عن اللم  ل لثور على وظائد معتوحة يمك ثم شا ثا. أيه

ً
لتح يق المثارات  بن ابما وستاا  وقت

ي اللازمي   لإعاطة التوظرد
 .والانت ال الجاااف 

 

 Full employment is less than 100 percent employment of the labor force. 

 Fully employed does not mean zero unemployment rate. 

 The economy is fully employed when it is experiencing only frictional and structural unemployment. 

 Full employed occurs when there is no cyclical unemployment. 

 Natural rate of unemployment (NRU) = frictionally Unemployed + Structurally Unemployed. 

 At the natural rate of unemployment, the economy producing its potential output. 

 Potential output: is the output (GDP) that occurs when the economy is 'fully employed". 

 The economy can operate at an unemployment rate below the NRU. 

 The NRU was about 4 to 6 percent. 
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Example: Choose the correct answer  
1. At the economy’s natural rate of unemployment (NRU): 

A. Only frictional unemployment exists 
B. There is only a relative small amount of cyclical unemployment 
C. Employment rate is 100% 
D. The economy achieves its potential output. 

 
2. An economy is considered to be at “full employment” when: 

A. 10-20% of the labor force is unemployed. 
B. 90% of the total population is employed. 
C. 90% of the labor force is employed. 
D. About 4-6% of the labor force is unemployed. 

 
3. Full employment means that  

A. There is no cyclical unemployment. 
B. There is no cyclical or frictional unemployment. 
C. No one is unemployed. 
D. There is no structural or frictional unemployment 

 
4. Full-employment output is also called: 

A. Zero-unemployment output. 
B. Equilibrium output. 
C. Potential output. 
D. 100% unemployment output. 

 

 

Economic Cost of Unemployment التكلفة الاقتصادية للبطالة 
 
GDP gap and Okun’s Law 

 
When the economy fails to create enough jobs for all who are able and willing to work, potential production of 
goods and services is irretrievably lost. In terms of Chapter 1’s analysis, unemployment above the natural rate 
means that society is operating at some point inside its production possibilities curve. Economists call this 
sacrifice of output a GDP gap. 
 

ي خ ق وظائد فافرة لجميع ال اط
ي اللم  ، ع دما يعش  الاقتفاط ف 

البطالة فو  الملدل الط رىي   ا فان ملدل نتاا ل س ع وال دمات. فذي   إرين والااغ ي   ف 
ي أن المجتمع 

ي تلت 
 .لإنتاا. يط ق الاقتفاطيون على هذه التهحرة بال اتج فجوة ال اتج المحلىي الإجمالىي طاخ  م حت  إمكانرات ا يفتج ع د ن طة ما ف 

 
 

𝐺𝐷𝑃 𝑔𝑎𝑝 =  𝐴𝑐𝑡𝑢𝑎𝑙 𝑜𝑢𝑡𝑝𝑢𝑡 –  𝑝𝑜𝑡𝑒𝑛𝑡𝑖𝑎𝑙 𝑜𝑢𝑡𝑝𝑢𝑡 
 
 
Potential output: is the output at full employment 
 
Actual output: it causes when unemployment rate above the NRU. 
 
GDP gap can be either negative (actual GDP < potential GDP) or positive (actual GDP > potential GDP) 
 
 

If Actual GDP > Potential GDP   →   Unemployment rate < Natural rate of Unemployment 

 

If Potential GDP > Actual GDP  →    Unemployment rate > Natural rate of Unemployment 
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Okun’s Law:  
 
The relationship between the unemployment rate and the GDP gap 
 
Okun’s law indicates that for every 1 percentage point by which the actual unemployment rate exceeds the 
natural rate, a negative GDP gap of about 2 percent occurs. 
 
Example 
Assume that the natural rate of unemployment is 6%, the actual unemployment rate is 10, and potential GDP is 
$600 million. According to Okun’s law, what is the GDP gap? 
 
Actual unemployment rate – natural rate of unemployment = 10% - 6% = 4%  
 
GDP gap = 2* 4% = 8% of potential GDP 
 
GDP gap = 8% * 600 m = $48 m (losses). 
 
Example 
Assume that in a particular year the natural rate of unemployment is 5% and the actual rate of unemployment is 
9%.  
 
A. Use Okun’s law to determine the size of the GDP gap in percentage point terms.  

 
Actual unemployment rate – natural rate of unemployment = 9% - 5% = 4%  
 

      GDP gap = 2* 4% = 8% of potential GDP 
 
B. If the potential GDP is $500 billion in that year, how much output is being forgone because of cyclical 

unemployment? 
 
    Output is being forgone = 8% * 500 billion = $40 billion  
 
 
Example: Choose the correct answer  
1. The GDP gap measures the difference between: 

A. NDP and GDP.  
B. NI and PI. 
C. actual GDP and potential GDP. 
D. nominal GDP and real GDP. 

 
2. If actual GDP is $500 billion and there is a negative GDP gap of $10 billion, potential GDP is: 

A. $510 billion. 
B. $490 billion. 
C. $10 billion. 
D. $990 billion 

 
3. Assume the natural rate of unemployment is 5 percent and the actual rate of unemployment is 9 percent. 

According to Okun's law, the negative GDP gap as a percent of potential GDP is: 
A. 4 percent. 
B. 8 percent. 
C. 10 percent. 
D. 2 percent. 

 
4. If actual GDP is less than potential GDP: 

A. potential GDP will fall. 
B. the price level will rise. 
C. the natural unemployment rate will be higher than the actual unemployment rate. 
D. the actual unemployment rate will be higher than the natural unemployment rate. 
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Noneconomic costs of unemployment:  تكاليف غير اقتصادية للبطالة 
 
Severe cyclical unemployment is more than an economic malady; it is a social catastrophe. Unemployment means 
idleness. And idleness means loss of skills, loss of self-respect, plummeting morale, family disintegration, and 
sociopolitical unrest. Widespread joblessness increases poverty, heightens racial and ethnic tensions, and 
reduces hope for material advancement. 
 

ي ف دان المثارات ، و 
ي ال س . وال س  يلت 

ام الذات ، البطالة الدورية الشديدة هي أك ر من مجاط طاء اقتفاطي ن إنثا فارثة اجتماعرة. البطالة تلت  ف دان اح ى
ي الت دم  وتدهور الاوح المل  ية ، وتعكع

 
. يؤطي انتشار البطالة إلى زياطة الع ا وزياطة التوتاات اللاقرة وت  ر  ابم  ف ابسرة ، والاقطااب الاجتماعي والسراسي

 .الماطي
 

Inflation:  التضخم الاقتصادي 
 
Inflation is a rise in the general level of prices. When inflation occurs, each dollar of income will buy fewer goods 

and services than before. Inflation reduces the “purchasing power” of money. But inflation does not mean that all 
prices are rising. Even during periods of rapid inflation, some prices may be relatively constant and others may 
even fall. 
 

ي س لًا وخدمات أق . ي    الته م من  ي المستوى اللام للأسلار. ع دما يحدث الته م ، فذن ف  طولار من الدخ  سيش ى
 
"ال وة الته م هو ارتعاع ف

ائرة" ل مال.  ي السرر
ي الته م أن جميع  لا يلت 

ات الته م السريققققع ، قد تكون بلض ابسلار ثابتة نسبرًا وقد ت  ع تاتعع فق   . ض أسلار أخاىف ى
 

Deflation:  Is a decline in the general level of prices.  (Negative inflation rate) 

 
 
Measurement of Inflation  قياس التضخم 
The main measure of inflation is the Consumer Price Index (CPI). The government uses this index to report 
inflation rates each month and each year. The CPI reports the price of a “market basket” of some 300 consumer 
goods and services that are purchased by a typical urban consumer. (The GDP price index of Chapter 24 is a 
much broader measure of inflation since it includes not only consumer goods and services but also capital goods, 
goods and services purchased by government, and goods and services that enter world trade.) 
 

. وش   الاقم ته م ف  شثا وف  عامعن ملدلات التست دم الحكومة هذا المؤسرر للإبلاغ  (CPI) .الم راس الائيسي ل ته م هو مؤسرر أسلار المستث ع

 أسلار ال اتج المحلىي الإجمالىي هو  300ال راسي بسلار المستث ع إلى سلا "س ة السو " لحوالىي 
. )مؤسرر ي يققثا مستث ع نمو ج 

س لة وخدمة استثلاكرة وش ى
ا الس ع ال

ً
يققثا الحكومة والس ع م راس أوسع بكث   ل ته م بنه لا وشم  ف ط الس ع وال دمات الاستثلاكرة ول ن أيه ي تش ى

اأسمالرة والس ع وال دمات التى
ي تدخ  التجارة اللالمرة(

 .وال دمات التى
 

Consumer Price Index (CPI) = 

Price of a fixed market 
basket in year t

Price of the same market 
basket in a base year period

 x 100 

 
Example: 
Suppose a basket of goods and services has been selected to calculate the CPI and 2019 has been selected as 
the base year. In 2019, the basket’s cost was $50; in 2020, the basket’s cost was $52; and in 2021, the basket’s 
cost was $57.25. What is the value of the CPI in 2021? 
 
 

Consumer Price Index (CPI) = 

Price of a fixed market 
basket in year 2021

Price of the same market 
basket in 2019

 x 100 = 
57.25

50
 x 100 = 114.5 

 
                    
The rate of inflation is equal to the percentage growth of CPI from one year to the next year. 
 
  

Inflation Rate = 
𝐶𝑃𝐼 𝑖𝑛 𝑦𝑒𝑎𝑟 𝑡 −  𝐶𝑃𝐼 𝑖𝑛 𝑦𝑒𝑎𝑟 𝑡−1

𝐶𝑃𝐼 𝑖𝑛 𝑦𝑒𝑎𝑟 𝑡−1
   x 100%                           
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Example 
If the CPI was 210 in 2020 and 202 in 2019. What is the rate of inflation in 2020? 
 

Inflation rate = 
𝐶𝑃𝐼 𝑖𝑛 𝑦𝑒𝑎𝑟 2010 −  𝐶𝑃𝐼 𝑖𝑛 𝑦𝑒𝑎𝑟 2009

𝐶𝑃𝐼 𝑖𝑛 𝑦𝑒𝑎𝑟 2009
   x 100%                          

 

Inflation rate = 
210 −  202

202
   x 100 = 3.96% 

 
By using the rule of 70, the price level will double in about:  70/3.96 = 17.67 years 
 
Example   
Use the information below to calculate the requested information. 
 
 
 
 

 
 

A. Calculate the consumer price index for both years using 2008 as the base year. 
 
CPI = Nominal GDP/ real GDP 
 
CPI (2008) = 100 (Base year) 
 

CPI (2009) =  
(10 x 3)+ (15 x 4)

( 10 x 3)+ (15 x2)
 x 100 = 

90

60
 x 100 = 150 

                         
B. Calculate inflation in 2009. 
 

Inflation rate = 
𝐶𝑃𝐼 𝑖𝑛 𝑦𝑒𝑎𝑟 2009 −  𝐶𝑃𝐼 𝑖𝑛 𝑦𝑒𝑎𝑟 2008

𝐶𝑃𝐼 𝑖𝑛 𝑦𝑒𝑎𝑟 2008
   x 100                            

 

      Inflation rate = 
150 −  100

100
   x 100   = 50%                                                   

 
C. How many years would it take prices to double? 
 

     Number of years would it take prices to double =   
70

𝑃𝑒𝑟𝑐𝑒𝑛𝑡𝑎𝑔𝑒 𝑟𝑎𝑡𝑒 𝑜𝑓 𝑖𝑛𝑓𝑙𝑎𝑡𝑖𝑜𝑛
 =  

70

50
  = 1.4 year 

                                                                                              
 
 
Example: Choose the correct answer  
1. Inflation means that: 

A. all prices are rising, but at different rates. 
B. all prices are rising and at the same rate. 
A. prices on average are rising, although some particular prices may be falling. 
C. real incomes are rising. 

 
2. The consumer price index was 177.1 in 2020 and 179.9 in 2021. Therefore, the rate of inflation in 2021 was 

about: 
A. 2.8 percent. 
B. 3.4 percent. 
C. 1.6 percent. 
D. 4.1 percent. 

 

 2008 2009 

quantity price quantity price 

Banana 10 3 10 3 

Carrots 15 2 15 4 
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3. If the consumer price index falls from 120 to 116 in a particular year, the economy has experienced: 

A. inflation of 4 percent.  
B. inflation of 3.33 percent. 
C. deflation of 3.33 percent. 
D. deflation of 4 percent. 

 
4. As applied to the price level, the "rule of 70" indicates that the number of years required for the price level to 

double can be found by: 
A. dividing "70" into the annual rate of inflation. 
B. dividing the annual rate of inflation into "70." 
C. subtracting the annual change in nominal incomes from "70." 
D. multiplying the annual rate of inflation by "70." 

 

 

Types of Inflation  انوع التضخم 
 

 Demand –Pull Inflation تضخم الطلب  

Usually, increases in the price level are caused by an excess of total spending beyond the economy’s capacity 
to produce. Where inflation is rapid and sustained, the cause invariably is an over issuance of money by the 
central bank. When resources are already fully employed, the business sector cannot respond to excess 
demand by expanding output. So the excess demand bids up the prices of the limited output, producing 
demandpull inflation. The essence of this type of inflation is “too much spending chasing too few goods.” 

 

ي مستوى  ةعاطة ما تكون الزياط
ناتجة عن زياطة الإنعا  الكلىي بما يتجاوز قدرة الاقتفاط على الإنتاا. ع دما يكون الته م سريلًا ومستدامًا ، فذن  الاسلار ف 

ي إصدار ابموال من قب  ال  ع الماطزي 
ع دما يتم بالعل  است دام الموارط بالكام  ، لا يمكن ل طاع ابعمال الاستجابة ل ط ب . السبب طائمًا هو الإفااط ف 

، مما يفتج ع ه ته م الط ب. جوها هذا ال  ع من الته م هو "إنعا  مبالغ فره الس عزائد من خلال توسيع الإنتاا. لذا فذن الط ب الزائد يافع أسلار ال
 ."على مطارطة س ع ق ر ة ل ااية

 
 

 Cost- Push Inflation تضخم التكاليف  

Inflation also may arise on the supply, or cost, side of the economy. The theory of cost-push inflation explains 
rising prices in terms of factors that raise per-unit production costs at each level of spending. A per-unit 
production cost is the average cost of a particular level of output. This average cost is found by dividing the 
total cost of all resource inputs by the amount of output produced. 
 

ا على جانب اللاض أو التك عة 
ً
ي قد يفشأ الته م أيه

ح نيرية ته م  ف  ي تافع تكالرد التكالردالاقتفاط. تسرر
متوسط  ارتعاع ابسلار من حرث اللوام  التى

على متوسط التك عة  الحفول ستوى ملي   من الإنتاا. يتمهي متوسط تك عة مإنتاا الوحدة مستوى من مست يات الإنعا . تك عة  ع د ف  انتاا الوحدة 
 .الانتااهذا ب سمة التك عة الإجمالرة لجميع مدخلات الموارط على فمرة 

 
Rising per-unit production costs squeeze profits and reduce the amount of output firms are willing to supply at 
the existing price level. As a result, the economy’s supply of goods and services declines and the price level 
rises.  In this scenario, costs are pushing the price level upward, whereas in demand-pull inflation demand is 
pulling it upward. 
 

. نترجة لذلع  عصق يؤطي ارتعاع تكالرد الإنتاا لك  وحدة إلى  ها ع د مسقتوى السقلا الحالىي ي توف  
فات الإنتاا ف  ي تاغب سرر

ابرباح وت  ر  فمرة الإنتاا التى
ي هذا السي اريو ، تدفع التكالر

 . د مستوى السلا إلى ابعلى ، ي  عض عاض الاقتفاط من الس ع وال دمات ويافع مستوى ابسلار. ف 
 

The major source of cost-push inflation has been so-called supply shocks. Specifically, abrupt increases in the 

costs of raw materials or energy inputs have on occasion driven up per-unit production costs and thus product 
prices. 

 

ي  وسقققققم ي بلض ابحران إلى  تؤطيبفقققققدمات اللاض.  التكالردتهققققق م  لالمفقققققدر الائيسقققققت 
ي تكالرد المواط ال ام أو مدخلات الطاقة ف 

الزياطات المعاجئة ف 
 ارتعاع تكالرد الإنتاا لك  وحدة وبالتالىي أسلار الم تج. 
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Example: Choose the correct answer  
1. Demand-pull inflation: 

A. Occurs when prices of resources rise, pushing up costs and the price level. 
B. Occurs when total spending exceeds the economy's ability to provide output at the existing price level. 
C. Occurs only when the economy has reached its absolute production capacity. 
D. Is also called cost-push inflation. 

 
2. Rising per-unit production costs are most directly associated with: 

A. Frictional unemployment. 
B. Structural unemployment. 
C. Demand-pull inflation. 
D. Cost-push inflation. 
 

3. The phrase "too much money chasing too few goods" best describes: 
A. The GDP gap. 
B. Demand-pull inflation. 
C. The inflation premium. 
D. Cost-push inflation. 

 
4. Inflation initiated by increases in wages or other resource prices is labeled: 

A. Demand-pull inflation. 
B. Demand-push inflation. 
C. Cost-push inflation. 
D. Cost-pull inflation. 

 
5. Cost-push inflation may be caused by: 

A. A decline in per unit production costs.  
B. A decrease in wage rates. 
C. A negative supply shock. 
D. An increase in resource availability. 

 
 

Redistribution Effects of Inflation 
Inflation redistributes real income. This redistribution helps some people and hurts some others while leaving 
many people largely unaffected. Who gets hurt? Who benefits?  
 

. تساعد إعاطة التوزيققققع هذه بلض ابش ان وتؤ ي البلض ا ي
ك اللديد من ابش ان غ   متأثرين إلى حد الته م يلرد توزيققققع الدخ  الح رقى لآخا بي ما ت ى

 . ر من الته مط    ي تتص 
 ؟ من المستعرد؟ ما هي العئات التى

 
 

Nominal and Real Income القيمة الاسمية والقيمة الحقيقية للدخل  
 

Nominal income is the number of dollars received as wages, rent, interest, or profits.  

ي يتم ت  يثا فأجور أو إيجار أو فائدة أو أرباح
 .الدخ  الاسمي هو عدط الدولارات التى

Real income is a measure of the amount of goods and services nominal income can buy; it is the purchasing 

power of nominal income, or income adjusted for inflation.  
 

ائرة ل دخ  الاسمي ، أو الدخ  المل
اؤها ن إنثا ال وة السرر ي يمكن ل دخ  الاسمي سرر

ي هو م راس لم دار الس ع وال دمات التى
 .دل ل ته مالدخ  الح رقى

 

Real Income = 
𝑁𝑜𝑚𝑖𝑛𝑎𝑙 𝑖𝑛𝑐𝑜𝑚𝑒

𝑃𝑟𝑖𝑐𝑒 𝑖𝑛𝑑𝑒𝑥
 

When inflation occurs, not everyone’s nominal income rises at the same pace as the price level. Therein lies the 
potential for redistribution of real income from some to others. If the change in the price level differs from the 
change in a person’s nominal income, his or her real income will be affected. 

ي من البلض
ة مستوى السلا. وه ا تكمن إمكانرة إعاطة توزيققققع الدخ  الح رقى للآخرين. إ ا  ع دما يحدث الته م ، لا ياتعع الدخ  الاسمي ل جميع ب عس وت  

ي الدخ
ي مستوى السلا ي ت د عن التاي   ف 

ي فان التاي   ف 
 .  الاسمي ل عاط ، فسيتأثا طخ ه الح رقى
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Example  
 
 
 
 
 

 
A. What is the real income in 2019? 

 
 

     Real Income (2019) = 
𝑁𝑜𝑚𝑖𝑛𝑎𝑙 𝑖𝑛𝑐𝑜𝑚𝑒

𝑃𝑟𝑖𝑐𝑒 𝑖𝑛𝑑𝑒𝑥
 = 

90,000

1.5
 = 60,000 

                                        
    

B. What was the increase (or decrease) in real income from year 2019 to year 2020? 
 

       Real Income (2020) = 
𝑁𝑜𝑚𝑖𝑛𝑎𝑙 𝑖𝑛𝑐𝑜𝑚𝑒

𝑃𝑟𝑖𝑐𝑒 𝑖𝑛𝑑𝑒𝑥
 = 

100,000

1.8
 = 55,556 

                                    

   Real income decrease by: 
(60,000 −  55,556)

55,556
  x 100 = 8% 

 
 

 If the change in the price level differs from the change in a person's nominal income, his real income will be 
affected. The following approximation tells us roughly how much real income will change: 

 

         (
𝑃𝑒𝑟𝑐𝑒𝑛𝑡𝑎𝑔𝑒 𝑐ℎ𝑎𝑛𝑔𝑒 

𝑖𝑛 𝑟𝑒𝑎𝑙 𝑖𝑛𝑐𝑜𝑚𝑒
) = (

𝑃𝑒𝑟𝑐𝑒𝑛𝑡𝑎𝑔𝑒 𝑐ℎ𝑛𝑎𝑔𝑒
𝑖𝑛 𝑛𝑜𝑚𝑖𝑛𝑎𝑙 𝑖𝑛𝑐𝑜𝑚𝑒

)  −  (
𝑃𝑒𝑟𝑐𝑒𝑛𝑡𝑎𝑔𝑒 𝑐ℎ𝑛𝑎𝑔𝑒

𝑖𝑛 𝑝𝑟𝑖𝑐𝑒 𝑙𝑒𝑣𝑒𝑙
) 

 
       
For example, suppose that the price level rises by 6 percent in some period. If his nominal income rises by 10 
percent, then real income will increase by about 4 percent. 
 
 

Anticipations Inflation  التضخم المتوقع 
 
The redistribution effects of inflation depend upon whether or not it is expected. We will first discuss situations 
involving unanticipated inflation. As you will see, these cause real income and wealth to be redistributed, harming 
some and benefiting others. We will then discuss situations involving anticipated inflation. These are situations in 
which people see an inflation coming in advance. With the ability to plan ahead, people are able to avoid or lessen 
the redistribution effects associated with inflation. 
 

ي ت طوي على ته م غ   متوقع. يؤطي
 المواقد التى

ً
ات إعاطة التوزيققققع ل ته م على ما إ ا فان متوقلًا أم لا. سف اقش أولا إلى  الته م غ   المتوقع تلتمد تأث  

ي ت طوي على الته م المتوقع. هذه هي 
وة ، مما يص  بالبلض ويعرد الآخرين. سف اقش بلد  لع المواقد التى ي وال ر

ي إعاطة توزيققققع الدخ  الح رقى
 المواقد التى

ات إعاطة ال  .توزيققققع الماتبطة بالته مياى ال اس فيثا ته مًا قاطمًا م دمًا. مع ال درة على الت طرط المس ق ، وستطيع ال اس تج ب أو ت  ر  تأث  
 

Who Is Hurt by Inflation? ؟من يتأذى من التضخم  
 
Unanticipated inflation hurts fixed-income recipients, savers, and creditors. It redistributes real income away from 
them and toward others.  
 

 Fixed-Income Receivers أصحاب الدخل الثابت) : People whose incomes are fixed see their real incomes fall 
when inflation occurs. 

 

ق  من ارتعاع أصحاب الدخول الثابتة و هم يمث ون الاال رة الليم من أفااط المجتمع فثم الذين يلانون من الته م حرث تاتعع طخولثم ال  دية بملدل أ
ي ان عاض الدخ  

ي لثم . ابسلار و هذا يلت 
 الح رقى

 
 

Variables 2019 2020 

CPI 150 180 

Nominal Income $90,000 $100,000 
Real GDP $16,000 $16,800 
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 Savers المدخرون  
 
Unanticipated inflation hurts savers. As prices rise, the real value, or purchasing power, of an accumulation of 
savings deteriorates. Paper assets such as savings accounts, insurance policies, and annuities that were once 
adequate to meet rainy-day contingencies or provide for a comfortable retirement decline in real value during 
inflation. 
 

اكم المدخاات. ابصول الورقرة ائرة ل ى بات التوف   ، مث  حسا الته م غ   المتوقع يص  المدخرين. مع ارتعاع ابسلار ، تتدهور ال رمة الح ر رة أو ال وة السرر
ي يوم من ابيام لمواجثة حالات الطوارئ  لرفةوبو 

 
ي فانت فافرة ف

 . التأمي   ، والملاشات الس  ية التى
 
 

 Creditors الدائنون 
 
Unanticipated inflation harms creditors (lenders). Suppose Chase Bank lends Bob $1000, to be repaid in 2 years. 
If in that time the price level doubles, the $1000 that Bob repays will have only half the purchasing power of the 
$1000 he borrowed. True, if we ignore interest charges, the same number of dollars will be repaid as was 
borrowed. But because of inflation, each of those dollars will buy only half as much as it did when the loan was 
negotiated. As prices go up, the value of the dollar goes down. So the borrower pays back less valuable dollars 
than those received from the lender. The owners of Chase Bank suffer a loss of real income. 
 

ض أن ب ع تشيس أقاض بوب  (. ل ع ى . إ ا تهاعد مستوى السلا  1000الته م غ   المتوقع يص  الدائ ي   )الم اقي   ي غهون عامي  
طولار ، ليتم سداطها ف 

ي  لع الوقت ، فسركون لمب غ 
قثا. صحي  ، إ ا ت 1000ف  ي اق ى

ائرة للألد طولار التى جاه  ا رسوم العائدة ، فسيتم طولار الذي وسدطه بوب نفد ال وة السرر
اه ع دما تم التعاوض ع ي ف  من هذه الدولارات سوى نفد ما اش ى اقثا. ول ن بسبب الته م ، لن وش ى ي تم اق ى

لى ال اض. سداط نعس عدط الدولارات التى
ي حف 

ض يدفع طولارات أق  قرمة من ت ع التى   ع تشيس من ل وهذا وسببع يثا من المد اض.  مع ارتعاع ابسلار ، ت  عض قرمة الدولار. لذا فذن الم  ى
ي 
ي الدخ  الح رقى

 .خسارة ف 
 

Who Is Unaffected or Helped by Inflation?   من الذي لا يتأثر بالتضخم أو يستفيد من التضخم 
 

 Flexible- Income Receivers.   المرنأصحاب الدخل 
People who have flexible incomes may escape inflation's harm or even benefit from it. Some union workers 
get automatic cost of living adjustment (COLAs) in their pay when the CPI rises. 
 

ر قد  ققققققققققق  ي لتك  لا يتصق
 عة المليشققققققققققققةابشقققققققققققق ان  وو الدخ  المان من التهقققققققققققق م أو حتى الاسققققققققققققتعاطة م ه. يحفقققققققققققق  بلض عمال ال  ابات على تلدي  ت  ا  

(COLAs)    ي روات ثم ع دما ياتعع مؤسرر أسلار المستث  ي
 .ف 

 

 Debtors المدينون 
Unanticipated inflation benefits debtors (borrowers). In our earlier example, Chase Bank’s loss of real income 
from inflation is Bob’s gain of real income. Debtor Bob borrows “dear” dollars but, because of inflation, pays 
back the principal and interest with “cheap” dollars whose purchasing power has been eroded by inflation.  
 

ي مثال ا السققققابق ، فذن خسققققارة
(. ف  قققققي  

ي من التهقققق م هي مكسققققب بوب ل دخ   Chase Bank التهقققق م غ   المتوقع يعرد المدي ي   )الم  ى
ل دخ  الح رقى

ض المدين بوب الدولارات "اللزيزة" ، ول ن بسققققبب التهقققق م ، وسققققدط أصقققق  الدين والعائدة بالدولار "الاخرت" الذي ت ك ت قوته  . ي  ى ي
ائرة الح رقى قققر السرق

 بسبب الته م. 
 

Anticipated Inflation: التضخم المتوقع  
The redistribution effects of inflation are less severe or are eliminated altogether if people anticipate inflation and 
can adjust their nominal incomes to reflect the expected price-level rises. 
 

ات ل ته م أق  حدة أو يتم ال هاء ع يثا تمامًا إ ا توقع ال اس الته م ويمك ثم  تلدي  طخولثم الاسمرة لتلكس ارتعاعات مستوى ابسلار تكون تأث  
 .المتوقلة

 
If inflation is anticipated, the redistribution of income from lender to borrower may be altered. Suppose a lender 
and a borrower both agree that 5 percent is a fair rate of interest on a 1-year loan provided the price level is stable. 
But assume that inflation has been occurring and is expected to be 6 percent over the next year. If the bank lends 
the household $100 at 5 percent interest, the bank will be paid back $105 at the end of the year. But if 6 percent 
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inflation does occur during that year, the purchasing power of the $105 will have been reduced to about $99. The 
lender will, in effect, have paid the borrower $1 for the use of the lender’s money for a year. 
 

ض يتع ان على أن نسبة إ ا فان الته م متوقلًا ، ف د يت ض أن الم اض والم  ى ض. ل ع ى ي المائة هي ملدل  5م تاي   إعاطة توزيققققع الدخ  من م اض إلى م  ى
 
ف
ض أن الته م فان يحدث ومن المتوقع أن يف  إلى  ط أن يكون مستوى السلا مست اًا. ل ن اف ى ي المائة خلال  6فائدة عاطل على قاض مدته س ة واحدة بسرر

 
ف

ي المائة ، فسيتم سداط  5طولار بعائدة  100 ب . إ ا أقاض ال  ع ابسرة اللام الم
 
ي نثاية اللام. ول ن إ ا حدث ته م بفسبة  105ف

 
ي المائة  6طولارات ل   ع ف

 
ف

ائرة لق  ي الواقع ، يكون المد اض قد طفع ل م  ى  99طولارات ست  عض إلى حوالىي  105خلال ت ع الس ة ، فذن ال وة السرر
 
ا م اب  است دام طولارًا. ف

ً
ض طولارًا واحد

 .أموال المد اض لمدة عام
 

The lender can avoid this subsidy by charging an inflation premium—that is, by raising the interest rate by 6 
percent, the amount of the anticipated inflation. By charging 11 percent, the lender will  receive back $111 at the 
end of the year. Adjusted for the 6 percent inflation, that amount will have roughly the purchasing power of $105 
worth of today’s money. The result then will be a mutually agreeable transfer of purchasing power from borrower 
to lender of $5, or 5 percent, for the use of $100 for 1 year. 
 

ي المائة ، م دار الته م المتوقع. من خلال فاض رسوم  6أي بافع سلا العائدة بفسبة  -يمكن ل م اض تج ب هذا الدعم عن عريق فاض علاوة ته م 
 
ف

ي المائة ، سرحف  الم اض على  11بفسبة 
 
ي نثاية اللام.  111ف

 
ا ل ته م البالغ  طولارًا ف

ً
ائرة  6بلد تلدي ه وف  ي المائة ، سركون لثذا المب غ ت ريبًا ال وة السرر

 
ف

ض إلى المد اض ب رمة  105ب رمة  ائرة من الم  ى  ل طافي   ل  وة السرر
ً
 م  ولا

ً
طولارات أمريكرة ، أو  5طولارات من أموال اليوم. ستكون ال ترجة بلد  لع تح يلا

ي المائة ، لاست دام 5
 
 طولار لمدة عام واحد.  100 ف

 
When inflation is anticipated, lenders add an inflation premium to the interest rate charged on loans. The nominal 
interest rate reflects the real interest rate plus the inflation premium (the expected rate of inflation). 
 

Real interest rate: is the percentage increase in purchasing power that the borrower pays the lender. 

 

Nominal Interest rate: is the percentage increase in money that the borrower pays the lender. 

 
   

Nominal Interest rate = real interest rate + inflation premium (the expected rate of inflation).  

 

 

 

Does Inflation Affect Output? هل يؤثر التضخم على كمية الانتاج  
Inflation also may affect an economy’s level of real output (and thus its level of real income). The direction and 
significance of this effect on output depend on the type of inflation and its severity. 
 

(. يلتمد اتجاه وأهمرة هذا التأث   على الإنت ي
ي للاقتفاط )وبالتالىي مستوى الدخ  الح رقى

ا على مستوى الإنتاا الح رقى
ً
اا على ن ع الته م يؤثا الته م أيه

 .وشدته
 

Cost-Push Inflation and Real Output: 
Recall that abrupt and unexpected rises in key resource prices such as oil can sufficiently drive up overall 
production costs to cause cost-push inflation. As prices rise, the quantity of goods and services demanded falls. 
So firms respond by producing less output, and unemployment goes up. 
 

ي أسلار الموارط الائيسرة مث  ال عط يمكن أن يؤطي إلى ارتعاع تكالرد الإنتاا الإجمالرة بشك  فافٍ 
ي ته م الارتعاع المعاج   وغ   المتوقع ف 

. التكالردل تسبب ف 

فات   .بإنتاا إنتاا أق  ، وتاتعع البطالةمع ارتعاع ابسلار ، ت  عض فمرة الس ع وال دمات المط  بة. لذلع تستجرب السرر
 

 
Demand-Pull Inflation and Real Output: 
Economists do not fully agree on the effects of mild inflation (less than 3 percent) on real output. One perspective 
is that even low levels of inflation reduce real output because inflation diverts time and effort toward activities 
designed to hedge against inflation.  
 

. أحد  3لا يتعق الاقتفاطيون تمامًا على آثار الته م الملتدل )أق  من  ي
ي المائة( على ال اتج الح رقى

هو أنه حتى المست يات الم  عهة من  وجثات ال يا ف 
ي بن الته م يحول الوقت والجثد نحو ابنشطة المفممة ل تحوط قد الته مالته م ت    ال اتج الح 
 .رقى
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Hyperinflation التضخم المفرط 
All economists agree that hyperinflation, which is extraordinarily rapid inflation, can have a devastating impact on 
real output and employment. 
 

ي واللمالة يتعق جميع
 .الاقتفاطيي   على أن الته م المعاط ، وهو ته م سريققققع ل ااية ، يمكن أن يكون له تأث   مدما على الإنتاا الح رقى

 
As prices shoot up sharply and unevenly during hyperinflation, people begin to anticipate even more rapid inflation 
and normal economic relationships are disrupted. Business owners do not know what to charge for their products. 
Consumers do not know what to pay. Resource suppliers want to be paid with actual output, rather than with 
rapidly depreciating money. 
 

ي توقع ته م أسرع وتتلط  الللاقات الاقتفاطية اللاطية. لا يلاف أصحاب  مع ارتعاع ابسلار بشك  حاط وغ   
 
متساو أث اء الته م المعاط ، يبدأ ال اس ف

 من المالابعمال ما الذي يت اقونه م اب  م تجاتثم. لا يلاف المستث  ون ما ا يدفلون. يريد مورطو الموارط أن يتم الدفع لثم من خلال الإنتاا 
ً
 العللىي ، بدلا

 .الذي يتم إهلاكه بسرعة
 

Examples of hyperinflation are Germany after the First World War and Japan after the Second World War. In 
Germany, “prices increased so rapidly that waiters changed the prices on the menu several times during the 
course of a lunch. Sometimes customers had to pay double the price listed on the menu when they ordered.” In 
postwar Japan, in 1947 “fisherman and farmers . . . used scales to weigh currency and change, rather than 
bothering to count it.” 
 

ي الت ومن ابمث ة على الته م المعاط 
ي ألمانرا ، "ارتعلت ابسلار ه م الذي حف  ف 

ألمانرا بلد الحاب اللالمرة ابولى والرابان بلد الحاب اللالمرة الثانرة. ف 
ي بلض ابحران فان على اللملاء طفع 

ي ال ائمة عدة ماات أث اء ت اول الاداء. ف 
ة لدرجة أن ال واطل قاموا بتاي   ابسلار ف  ي قلد السلا المدر بسرعة ط   

ا ف 
ي عام 

ي الرابان ما بلد الحاب ، ف 
 من ع اء حسابثا ".  1947ال ائمة ع د الط ب ". ف 

ً
 "الفراطون والمزارعون. . . تست دم الم اييس لوزن اللم ة والتاي   ، بدلا

 

Example: Choose the correct answer  
1. Suppose that a person's nominal income rises from $10,000 to $12,000 and the consumer price index rises 

from 100 to 105. The person's real income will: 
A. fall by about 20 percent.  
B. fall by about 2 percent. 
C. rise by about 15 percent. 
D. rise by about 25 percent. 
 

2. Cost-push inflation: 
A. reduces real output. 
B. increases real output. 
C. reduces the unemployment rate. 
D. raises the natural rate of unemployment 

 
3. During a period of hyperinflation: 

A. creditors gain because their loans are repaid with dollars of higher value. 
B. people tend to hold goods rather than money. 
C. income is redistributed away from borrowers. 
D. the real value of the national currency rises. 

 
4. Inflation affects: 

A. both the level and the distribution of income.  
B. neither the level nor the distribution of income. 
C. the distribution, but not the level, of income. 
D. the level, but not the distribution, of income. 
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